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Quiz Date: 11" March 2020

Directions (1-5): Study the given information carefully to answer the given question.
Six employees of an organization i.e. B, C, F, E, G, and D are living in Eight storey building in
which two floors are vacant which is at even numbered floor. They are going to attend their
friends’ wedding ceremony in different cities. These cities are Kanpur, Manali, Kullu, Pune,
Delhi and Lucknow but not necessary in same order. Top floor is not vacant. The one who is
going to attend the wedding in Kanpur, lives on odd numbered floor which is just above the
one of the Vacant floors. E lives below to C but not just below. There are two employees live
between the one who is going to attend wedding in Kanpur and the one who is going to
attend the wedding in Kullu. B lives just above D who lives on an odd numbered floor. The
one who is going to attend the wedding in Lucknow lives on 4th floor. C lives immediate
below the one who is going to attend the wedding in Lucknow. The one who is going to
attend the wedding in Kanpur lives below the one who is going to attend the wedding
Kullu. G lives on 5t floor which is just below one of the Vacant floors. G is not going Manali
and Pune. The one who is going to attend the wedding in Pune lives below the one who is
going to attend the wedding in Manali.

Q1. Who among the following is going to attend the wedding in Pune?
(@ E
(b) G
(ccC
(dF
(e)D

Q2. Who among the following lives on 4th floor?
(@) E
(b) C
()G
(d)F
(e)B

Q3. Who among the following lives just above the 1st vacant floor from bottom?
(a)B
(b) C
(0D
(d)G
(e)F

Q4. On which floor, the one who is going the attend the wedding in Manali, lives?
(a) 7th
(b) 8th
(c) 3rd
(d) 4th
(e) 5th
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Q5. Who among the following lives on Ground floor?
(@)D
(b) B
() F
(d)E
(e)G
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Directions (6-8): Each of the questions below consists of a question and three
statements numbered I, II and III given below it. You have to decide whether the data
provided in the statements are sufficient to answer the question. Read all the three
statements and Give answer:

(a) If the data in Statement I and II are sufficient to answer the question while the data in
Statement III is not required to answer the question

(b) If the data in Statement [ and III are sufficient to answer the question, while the data in
Statement Il is not required to answer the question

(c) If the data in Statement Il and III are sufficient to answer the question, while the data in
Statement I is not required to answer the question

(d)If even the data in Statement [, Il and III together are not sufficient to answer the
question.

(e)If the data in all the Statement I, Il and III together are necessary to answer the question.

Q6. Who among A, B, C, D and E is driving the four-wheeler?
(i) Band C are drunk.

(ii) D does not have the driving license.

(iii) D and C are sitting on the front row.

Q7. Who is the tallest among A, B, C, D and E?

(i) E is heavier than D and B. Neither D nor B is the shortest.
(ii) A is taller than B. Neither B nor C is the shortest.

(iii) C is shorter than B and lighter than B.

Q8. B is married to who among the following as given that A, B, C, D, E belongs to a family of
three generation?

(i) No one among B, C or E is from the oldest generation of the family. D is the father of A.
(ii) C is the daughter of D. E is the youngest.

(iii) D has only two children and one of them is married. A is unmarried.

Directions (9-11): These questions are based on the information given below:
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Eight persons A, B, C, D, E, F, G and H are standing in such a way that C is 20 m apart from B
towards West, B is 30 m South with respect to A. A is 40 m towards West with respect to E.
D is 50 m towards South with respect to E. F is 15 m apart from G towards North. H is 20 m
towards East with respect to G. F is 40 m towards West with respect to D.

Q9. In which direction is B standing with respect to F?
(a) North-West

(b) North

(c) North-East

(d) Cannot be determined

(e) None of these

Q10. If one more person I is standing towards South-West with respect to D, then in which
direction is H, standing with respect to I?

(a) South-West

(b) North-East

(c) North-West

(d) Cannot be determined

(e) None of these

Q11. What is the direction of C with respect to H?
(a) North-West

(b) North

(c) West

(d) Cannot be determined

(e) None of these

Directions (12-13): Each of the questions given below consists of a question and two
statements numbered I and II. You have to decide whether the data provided in the
statements are sufficient to answer the question.

(a) If statement I alone is sufficient to answer the question, but statement II by itself is not
sufficient to answer the question.

(b) If statement II by itself is sufficient to answer the question, but statement I alone is not
sufficient to answer the question.

(c) If statement either I or II is sufficient to answer the question.

(d) If both the statements I and II taken together are not sufficient to answer the question.
(e) If both the statements I and II taken together are sufficient to answer the question.

Q12. Conclusion: Some Milk are Coffee. Some Coffee are not Cold-drinks. Which of the
following set of statement is required that logically satisfies given conclusions (Given
statements to be true even if they seem to be at variance from commonly known facts).
Statement [: Some Milk are Drink. Some Coffee are Tea.

Statement II: All drink are Coffee. No Tea is Cold-drink.

Q13. Six persons A, B, C, D, E and F are sitting around a circular table. Are all facing towards
the center?
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Statement I: E sits second to the left of A, who is facing towards the center. C sits opposite
to D. F sits to the immediate right of A. A sit second left of C and C does not sit between A
and E. F sits second to right of D. F sits third left of E.

Statement II: F sits second left of B. E sits second right of C and is not an immediate
neighbour of F. D sits third left of C. B is facing towards the center.

Direction (14-15): Read the information carefully and answer the questions given
below:

Building A is to the North of building B and to the West of building C. Building M is to the
west of building C and north of building O. Building B is to the southeast of building M and
to the northwest of building N, which is to the east of building O.

Q14. Building B is in which direction with respect to building C?
(a) South

(b) West

(c) Northeast

(d) Southwest

(e) None of these

Q15. Building C is in which direction with respect to building N?
(a) South

(b) West

(c) Northeast

(d) Can’t be determined

(e) None of these
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Solutions

Solutions (1-5):
Sol.

Floor | Employees | Cities

8 B Manali

7 D Kullu

6 vacant Vacant

5 G Delhi

4 F Lucknow

3 C Kanpur

2 vacant vacant

1 E Pune



https://store.adda247.com/product-ebooks/4031/SBI-Clerk-Complete-E-KIT-English-Medium-eBooks

Bankersadda.com Reasoning Ability Quiz for SBI Clerk Mains 2020 Adda247.com

S1.Ans.(a)
S2.Ans.(d)
S3.Ans.(b)
S4.Ans.(b)
S5.Ans.(d)

Solutions (6-7):

S6. Ans.(d)

Sol. None is sufficient as the person can be drunk or not have driving license but still be
driving the vehicle.

S7. Ans.(d)
Sol. From (i) (ii) and (iii) we can say that A>B>C, but we can’t say who is the tallest.

S8. Ans.(e)
Sol. From all the statements taken together, we can say that B is married to C.
D

B(+)==C() A

Solutions (9-11):

S9. Ans.(b)
Sol.
A E N
40m - NE
30m
20m 50m W E
C——B
F 40m D SW SE
15m S
H
e 20m

B is standing in North direction with respect to F.

S10. Ans.(d)
Sol.
A E N
40m K NE
30m
20m 50m W E
F 40m D SW SE
15m S
G

20m
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As total distance between I and D is not given, so the position of H with respect of [ cannot
be determined.

S11. Ans.(a)
Sol.
A E N
40m K NE
30m
20m 50m W E
cC——=~a8
E 40m D SW SE
15m S
H
S 20m

Cis in the North-West direction from H.

Solutions (12-13):
S12. Ans.(e)
Sol. By using both statement I and II-

S13. Ans. (d)

Sol. Even by combining both statement I and II the direction of facing of F cannot be
determined. So, both the statements [ and Il taken together are not sufficient to answer the
question.

Solutions (14-15):
Sol.
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S14. Ans.(d)
S15. Ans.(d)
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